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Deck Layout

1.    Rudder
2.    Rudder box
3.    Tiller arm
4.    Tiller arm extension
5.    Daggerbord slot
6.    Sidestay padeye
7.    Mast base
8.    Jib track
9.    Snuffer mount
10.  Forestay padeye
11.  Retractable bowsprit
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Deck Layout

1.    Rudder
2.    Rudder box
3.    Daggerboard
4.    Sidestay padeye
5.    Forestay padeye
6.    Retractable bowsprit
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J1 = 2.95 m

E = 2.37 m

rake 3.9°

1.40 m

I1
 =

 5
.7

1 
m

I =
 4

.6
3 

m

P
 =

 5
.0

5 
m



1

5

3

2

4

Deck Layout

1.    Rudder foil
2.    Rudder box
3.    Tiller arm
4.    Tiller arm extension
5.    Rudder hinge


